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H kk xH kk xH kk xH kk x – I / PART – I 

ck y f odkl ,o a f 'k {k k' kkL=ck y f odkl ,o a f 'k {k k' kkL=ck y f odkl ,o a f 'k {k k' kkL=ck y f odkl ,o a f 'k {k k' kkL= / CHILD DEVELOPMENT & PEDAGOGY 

funs Z'k %funs Z'k %funs Z'k %funs Z'k %     fuEufy f[kr iz'u ks a d s mÙkj nsu s d s fy ,     l cl s mfp r l cl s mfp r l cl s mfp r l cl s mfp r f od Yi p qfu,A 
Direction : Answer the following questions by selecting the most appropriate option.    

1. fuEu kafd r es a l s d kSu&l h l ad Yiuk  l qizfl ) 
^ckscks M kWy* iz;ksx ls l acaf/k r gS \ 

(1) varn Z̀f" V  vf/k xe 

(2) f ujh{ k.kk Red  vf/k xe 

(3) u Sfrd  fodk l  
(4) vu qcaf /kr vu qfØ ;k 

  1. Which of the following concept is 

derived from famous 'Bobo Doll' 

experiment ? 

(1) Insightful learning  

(2) Observational learning 

(3) Moral development  

(4) Conditioned response 

2. Ý k ;M d s euk syS af xd  fo dkl  d s fl )kar d h 
^y S afxd  voLFkk*  dk  v k;q&f oLrk j]  , fjDl u ds 
euk slke kftd  f od kl  d h f uEuk afd r es a l s fdl  
vo LFkk  d s l erqY; gS \  

(1) f o'o kl  cu ke vfo 'ok l  
(2) Lo k;Ùkrk  cu ke 'k eZ , oa l ansg 

(3) igy c uk e vijk/k  cks/k  

(4) igpku cuke Hkwfedk Hkze (Role Confusion) 

  2. The age range of Genital Stage of 

Freud's theory of Psycho-sexual 

development is similar to which of the 

following stage of Erikson's theory of 

Psycho-social development ? 

(1) Trust vs mistrust  

(2) Autonomy vs shame & doubt 

(3) Initiative vs guilt  

(4) Identity vs role confusion 

3. fd 'kksjk sa d k ;g egl wl  d juk ^l Hkh e sjh  v ksj 
ns[k  jgs gS a* dk s l aKk  nh t k l d rh  gS % 

(1) O ;f Drx r feFk d  
(2) d kYifud n'k Zd 

(3) , uk sjsfDl ;k uoks Zl k 

(4) cqfy fe;k  uo ks Zl k 

  3. The feeling of adolescents, "Everyone is 

looking at me", can be termed as : 

(1) Personal fable  

(2) Imaginary audience 

(3) Anorexia Nervosa  

(4) Bulimia Nervosa 

4. vu qiz;qDr O;ogkj fo 'ys" k .k (Applied 

Behaviour Analysis or ABA) fuEu kafd r es a 
l s f dl  fl )kar ij vk /kkfjr gS \ 
(1) 'k kL= h; v uqca/ku  
(2) f Ø ;k izl wr vu qca/ku 

(3) varn Z̀f" V  vf/k xe  
(4) f ujh{ k.kk Red  vf/k xe 

  4. Applied Behaviour Analysis is based on 

principles of : 

(1) Classical conditioning  

(2) Operant conditioning 

(3) Insightful learning  

(4) Observational learning 



[ A ] [ 4 ] 

Level-3/3307   

5. ^;qo k fd 'kksjksa d h ;g e kU;rk  f d o s iw.kZr;k  
fd l h vU ; O;fDr l s fHkU u gS a*] d ks tku k tk rk 
gS % 

(1) O ;f Drx r feFk d   

(2) d kYifud n'k Zd 

(3) vk Re Kku  

(4) vk Re ksn~? kkV u 

  5. 'Young teen-agers often believe that 

they are completely unlike any one 

else.' This phenomenon is known as : 

(1) Personal fable  

(2) Imaginary Audience 

(3) Self realization  

(4) Self disclosure 

6. fujh{k .kk Red  vf /kxe ds pkj rRo ks a d k l ghl ghl ghl gh  
Ø e D;k  gS \ 

(1) vo /k ku → vfHk iz sj.kk → /k kj.k d juk 
→ iqu#R ik nu 

(2) vo /k ku → /kk j.k d juk  → iqu#Riknu 
→ vf Hkiz sj.kk 

(3) vo /k ku → iqu#Riknu → /k kj.k d juk 
→ vf Hkiz sj.kk 

(4) vo /k ku → /kk j.k d ju k → vfHk iz sj.kk 
→ iqu#R ik nu 

  6. What is the correct sequence of four 

elements of observational learning ? 

(1) Attention → Motivation → 

Retention → Reproduction  

(2) Attention → Retention → 

Reproduction  → Motivation 

(3) Attention → Reproduction → 

Retention → Motivation 

(4) Attention → Retention → 

Motivation → Reproduction 

7. fuEu kafd r e s a l s dk Su&l k d Fk u f i;kt s ds 
l aKku kR ed  f od kl  d s fl )k ar d s lanHkZ e s a l gh 

u gh au gh au gh au gh a  gS \ 

(1) ;g bl  e kU ;rk ij vk /kk fjr gS fd  
f od kl  ,d  vl rr izf Ø ;k gSA  

(2) ;g bl  e kU;rk ij vk/ kkf jr gS f d  cPp s 
l fEeyu , oa vkRelkrh d j.k }kjk  l h[krs 
gS aA 

(3) ;g bl  e kU ;rk ij vk /kk fjr gS fd  
f od kl  ,d  l rr izf Ø ;k gSA 

(4) ;g bl  e kU ;rk ij vk /kk fjr gS fd  
l aKk ukRed  fod kl  pkj pj.k ksa es a gksrk gSA 

  7. Which of the following statement is not 

true about the theory of cognitive 

development given by Jean Piaget ? 

(1) It believes that development is a 

discontinuous process.  

(2) It assumes that children learn 

through assimilation and 

accommodation. 

(3) It believes that development is a 

continuous process. 

(4) It believes that cognitive 

development takes place in four 

different stages. 
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8. th ou Lisl  ¼{ks=½  d h  l ad Yiuk ] , d  Hkk x gS % 

(1) 'k kL= h; v uqca/ku d k  

(2) f Ø ;k izl wr vu qca/ku d k 

(3) varnZ `f" V  vf/k xe dk  

(4) y sfo u {k s= fl )kar dk 

  8. The concept of 'Life Space' is a part of : 

(1) Classical conditioning  

(2) Operant conditioning 

(3) Insightful learning  

(4) Lewin's field theory 

9. ud kjkRed  iqucZyu , o a naM es a D;k  l aca/k gS \ 

(1) nksu ksa fdl h  v uqfØ ;k  dks l qn`< + cu krs gS aA 

(2) nksuksa fdlh vuqfØ;k dks detksj djrs gSaA 

(3) ud k jkRed iqucZyu fd lh  vuqf Ø ;k dks 
n`< + c uk rk  gS t cf d  naM fdl h  vu qfØ ;k  
d ks d etksj cuk rk  gSA  

(4) ud k jkRed iqucZyu fd lh  vuqf Ø ;k dks 
d etksj cuk rk  gS t cf d naM fd lh 
vu qfØ ;k  d ks n`<+ cuk rk  gSA 

  9. What is the relationship between negative 

reinforcement and punishment ? 

(1) Both tend to strengthen a response 

(2) Both tend to weaken a response 

(3) Negative reinforcement strengthens 

a response whereas punishment 

weakens a response.  

(4) Negative reinforcement weakens a 

response whereas punishment 

strengthens a response. 

10. ;fn , d  fØ ;k d h  vko f̀ Ùk fd l h nwl jh 
fØ ;k @d k;Z l s vf/kd  gS rc igyh  fØ ;k  d k 
mi;ksx] nwl jh fØ ;k @d k ;Z ft ld h  vk o `fÙk d e 
gS] ds fy , iqucZyu d s :i es a fd ;k  tk ld rk 
gSA ;g fl ) kar gS % 
(1) iz he Sd  dk  fl )k ar  
(2) Fk kWu ZMk bd  d k fl )kar 

(3) f Ld uj d k  fl )kar  

(4) iko yk so  d k fl )kar 

  10. If one activity occurs more often than 

another, it can be used to reinforce the 

activity that occurs less often. This 

principle is known as : 

(1) Premack's principle  

(2) Thorndike's principle 

(3) Skinner's principle  

(4) Pavlov's principle 

11. fuEu kafd r es a l s d kSu&l k f LFkj varjky 
iqucZyu d k mnkgj.k ugh augh augh augh a  gS \ 

(1) izfre kg osru iz kI r d ju k  

(2) , d  O;Lr u acj M k;y d ju k 

(3) vk of /kd  : i l s nar& tk¡p  d s fy , tk uk 

(4) izfro " kZ o sruo `f) feyu k 

  11. Which of the following is not an 

example of fixed interval schedule of 

reinforcement ? 

(1) Getting salary every month  

(2) Dialing a busy number 

(3) Having a periodic dental checkups 

(4) Getting increment every year 
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12. fuEufy f[kr es a l s d kSu&lk fod Yi vkWf VT +e 
LisDVªe fMl vkWM Zj dh f o'k s" krk ugh augh augh augh a  gS \ 
 

(1) ns[ ku s vkSj l quu s d h  l eL;k 

(2) l ke kftd  vUrfØ Z;k  e sa l eL;k 

(3) 'k kfC nd  vkSj v'k kfC nd  l Eiz s"k .k e s a   

l eL;k 

(4) vk oR ;k ZRed @ck jE ck j O ;o gkj 

  12. Which of the following option is not a 

characteristic of Autism Spectrum 

Disorder ? 

(1) Problem in vision and hearing 

(2) Problem in social interaction 

(3) Problem in verbal and nonverbal 

communication 

(4) Repetitive behaviour 

13. fd e us viuk eksckby uacj cnyd j u;k uacj 
fy;kA tc fdlh us ml dk u;k uacj iwNk rc 
og mlds flQZ rhu vad  gh ;kn dj ik;hA 
bld k dkj.k fuEukafdr esa ls gks ld rk gS % 
 

(1) {k j.k  

(2) iwo ZlfØ ; O;o /kk u 

(3) neu  

(4) i'pxeu 

  
13. Kim changed her mobile number; and 

got a new number. When some-one 

asked her new number she could recall 

only three digits of her new mobile 

number. The cause behind it may be : 

(1) Decay  

(2) Proactive Interference 

(3) Suppression  

(4) Regression 

14. fuEu kafd r e s a l s dkSu&l k dF ku o kbxksRLd h ds 
l e kt &lkaLÑ frd fl )kar d s l anHkZ esa l gh ugh augh augh augh a 
gS \ 

(1) cPps t ks d k;Z Lo ;a] fcuk  l gk;rk d s] 
iwjk d j ld rs gS a] mUgs a d jrs gq,  o s cgqr  
d e lh [k rs gSaA 

(2) f ud VLFk fo dkl  d k {ks=] bl  fl )k ar dk 
, d  Hkk x gSA 

(3) ;g cky d  d s l aKk ukRed  fod kl  es a Hkk "kk 
d s egÙo dh  mis{kk  d jrk  gSA 

(4) ;g l aKk uk Red  fod kl  esa l ekt  , oa 
l aLÑ fr d h Hkwfed k ij cy  nsrk gSA 

  
14. Which of the following is not true about 

the socio-cultural theory of Vygotsky ? 

(1) Children learn very little from 

performing tasks they can already 

do independently.  

(2) Concept of Zone of Proximal 

Development (ZPD) is a part of it. 

(3) It ignores the importance of 

language in cognitive development. 

(4) It emphasizes role of socio-cultural 

environment in cognitive 

development. 
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15. Cywe ds oxhZdj.k ds vuqlkj] fuEukafdr esa ls 
dkSu&lk laKkukRed {ks= dk ,d mi{ks= ughaughaughaugha gS \ 

(1) vu qiz;k sx  

(2) f o'y s" k.k 

(3) l a'ys"k .k  

(4) vu qfØ ;k 

  15. As classified by Bloom, which one of 

the following is not a subdomain of 

cognitive domain ? 

(1) Application 

(2) Analysis 

(3) Synthesis  

(4) Responding 

16. efLr"d ds izh&ÝaVy dkWVsZDl ds }kjk fuEukafdr 
esa ls dkSu&lk dk;Z fu;af=r ughaughaughaugha gksrk gS \ 

(1) 'k kjhf jd  if jpky u  

(2) f paru 

(3) l eL;k l e k/ kku  

(4) n`f" V , oa J o.k 

  16. Which of the following is not controlled 

by pre-frontal cortex of brain ? 

(1) Body Movement 

(2) Thinking 

(3) Problem solving  

(4) Vision & Hearing  

17. fd 'kksj ckyd ksa d s fnok Lo Iu d s l anHk Z esa 
fuEu kafd r e s a ls dk Su&l k d Fku l gh ugh augh augh augh a    
gS \ 

(1) ;g l fØ ; [ ksy dk  ,d  izd kj gSA  

(2) f no k LoI u d s nk Sjku fd 'kksj tks Hkwfedk 
Lo hd kj d jrs gS a og u k;d  dk gksrk gSA 

(3) bl e s a e kufl d  d s  ct k; 'kkjhf jd  fØ ;k 
T;knk gksrh gSA 

(4) bl e s a 'k kjhf jd  d s ct k; e kufld  fØ ;k 
T;knk gksrh gSA 

  17. Which of the following is not true about 

Day Dreaming among adolescents ? 

 

(1) It is a form of active play.  

(2) The roles adolescents adopt in day 

dreaming are heroic. 

(3) It involves more physical activity 

than mental.  

(4) It involves more mental activity 

than physical. 

18. , d  fd 'k ksj ;g egl wl  d jrk gS fd  vc rd  
ml d s tSl k xgjk I;k j fd l h u s ugha fd ;k gSA 
;g | ksrd  gS % 

(1) d kYifud n'k Zd  d k  

(2) O ;f Drx r feFk d  dk 

(3) vk Re&if jp ;@igp ku d k  

(4) igpk u l ad V d k 

  18. A teenager feels that no one has ever 

been as deeply in love as he is. It 

indicates : 

(1) Imaginary Audience  

(2) Personal fable 

(3) Self identity  

(4) Identity crisis 
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19. o kD;ka'k ^,d  gkFk e s a Ng , o a nwl js gkF k esa 
vk /kk  ntZu*  f uEu kaf d r e s a l s f dl  izdkj ds 
}a} d h  l oks ZÙke O;k[ ;k  gS \ 

(1) mikxe &  if jgk j }a} d h  

(2) ifjgkj &  if jgk j }a} d h 

(3) mikxe &  mikxe }a} d h 

(4) } ; m ik xe &  if jgk j }a } d h 

  19. The phrase, 'six on one hand, and half a 

dozen on other' best describes which of 

the following type of conflict ? 

(1) Approach - Avoidance conflict  

(2) Avoidance - Avoidance conflict 

(3) Approach - Approach conflict  

(4) Double Approach - Avoidance 

conflict 

20. cz kWuQ sucs zuj d s ^ikf jfLFk frdh; ra=* d s fl )kar 
d s vu ql kj fuEu kaf d r e s a l s d kSu& lk cky d ds 
^c`g r~ {ks=* e s a l ekfgr u ghau ghau ghau gha  gS \ 
 

(1) f o| ky ; (2) e wY; 

(3) d ku wu (4) jh fr fjo kt 

  
20. According to Ecological systems theory 

of Bronfenbrenner, which of the 

following does not belong to Macro 

system of the child ? 

(1) School (2) Values 

(3) Laws (4) Customs 

21. iqjLd kj d s l aca/k es a fuEu kafd r es a l s d kSu& lk 
d Fk u l gh  ughaughaughaugha  gS \ 

(1) ;g f j'or d k , d  izd kj gSA  

(2) ;g o kaNu h; O ;o gkj es a o `f) d jrk gSA 

(3) ;g , d  #fp d j míhid  gSA  

(4) ;g vu qfØ ;k  dk s n`< + d ju s d s f y,  fn;k 
t krk gSA 

  
21. Which of the following is not true about 

a reward ? 

(1) It is a type of bribe.  

(2) It increases desirable behaviour. 

(3) It is a pleasant stimulus.  

(4) It is given to strengthen the 

response. 

22. ^l tZu kRed rk d k fuo s'k  fl )kar* fn;k x;k    
gS % 

(1) f cu s ,o a lk beu }kjk 

(2) d Sjksy , oa dSV y  }kjk 

(3) LV u ZcxZ ,o a yqcVZ }kjk  

(4) o kV l u ,o a jsuj }k jk 

  
22. The 'investment theory of creativity' is 

given by : 

(1) Binet and Simons  

(2) Carrol and Cattle 

(3) Sternberg and Lubart  

(4) Watson and Ryner 
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23. ^^f od kl  d s bl  p j.k e s a cPps viuh  vk¡[ k] 
d k u]  gk Fk , oa vU ; l aosnh vaxks a d s }k jk 
fp aru d jrs gS aA**   

;g d Fku fuEu kaf d r es a l s fd l l aKk uk Red 
fo dkl  dh  voLFkk d h  l oksZÙke O;k[ ;k gS \ 

(1) l aosnh xked  vo LFkk  

(2) iwo Z l afØ ;k Red  voLFkk 

(3) e wrZ l afØ ;kR ed  vo LFk k  

(4) vk Sip kf jd  l afØ ;k Red vo LFkk 

  23. "At this stage of development, children 

think with their eyes, ears, hands and 

other sense organs."  

The above statement best describes 

which of the following stage of 

cognitive development ? 

(1) Sensori motor stage  

(2) Pre-operational stage 

(3) Concrete operational stage 

(4) Formal operational stage 

24. fuEu kafd r es a l s f dUgs a cky & v/;;u d k  
l aLF kkid  eku k tk rk  gS \ 

(1) vYÝ sM fcu s  

(2) f Fk;ksM ksj l k beu 

(3) t h0 LV suys gkWy  

(4) ch0 ,Q 0 fLd uj 

  24. Which of the following is the founder of 

Child Study Movement ? 

(1) Alfred Binet  

(2) Theodore Simon 

(3) G. Stanley Hall 

(4) B. F. Skinner 

25. fuEu kafd r e s a l s d kSu& l k fd 'k ksjko LFkk ds 
vifjiDo fp aru dk  mnkgj.k ugh augh augh augh a gS] t Sl k fd 
, yf dUM }kjk  crk;k x ;k  gS \ 

(1) vk n'k Zokn  

(2) o kn& fo okn d h izo `fÙk 

(3) l qfuf'prrk@v kxzfgrk   

(4) f of 'k" V rk d h izo `fÙk 

  25. Which of the following is not a form of 

immaturity of thinking during 

adolescence as proposed by Elkind ? 

(1) Idealism  

(2) Argumentativeness  

(3) Assertiveness  

(4) Specialness 

26. fuEu kafd r e s a l s dk Su&l h f'k{k .k O;wgjp uk 
yk sd rkaf =d  u ghau ghau ghau gha  gS \ 

(1) l eL;k l e k/ kku  

(2) ifj;kst uk 

(3) [ kk st  

(4) izn'kZu 

  26. Which of the following is not a 

democratic teaching strategy ? 

(1) Problem solving  

(2) Project 

(3) Discovery  

(4) Demonstration 
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27. Fk kWu ZM kbd  }kjk fn;s x;s ^ iz;kl  ,oa =qf V* 
fl )kar d k d kSu& lk  f u;e ^iqucZy u*  d h 
l ad Yiu k d s l erqY; gS \ 

(1) mi ;k sx d k  fu;e   

(2) vu qi;k sx d k  fu;e   

(3) izHkk o d k fu;e    

(4) rRij rk  ¼rS;kjh ½  d k f u;e  

  27. Which law of 'Trial and Error' given by 

Thorndike is similar to the concept of 

'reinforcement' ? 

(1) Law of Use  

(2) Law of Disuse 

(3) Law of Effect  

(4) Law of Readiness 

28. ^e kWMfyax*  , d izHkk oh  f'k{k.k ;qfDr gS % 
 

(1) n`f" V ckf /krk ;qDr cPp ks a d s fy ,   

(2) vf /kxe v{k erk ;qDr cPpk s a d s f y, 

(3) vEy h; vkØ e.k izHkk fo rks a d s fy ,  

(4) ckSf )d  v{kerk ;qDr cPp ks a d s fy , 

  28. 'Modelling' is an effective teaching 

method for : 

(1) Children with visual impairment  

(2) Children with learning disability 

(3) Acid Attack Victims  

(4) Children with intellectual disability 

29. mPp cqf) d k  f uE uf yf[k r e s a l s dkSu-lk 
l ad srd  l ok s ZÙke gS \ 

(1) cqf) ijh{k .k  esa 103 vad  iz kIr d juk  

(2) Le `fr l s dfo rk ikB d juk 

(3) mPp xz sM iz kI r d ju k 

(4) i`" Biks" k .k d s i'pk r~ l e ku xyrh  d k s u 
nksgjku k 

  29. Which of the following is best indicator 

of high intelligence ? 

(1) Scoring 103 on an IQ test 

(2) Reciting poem from memory 

(3) Earning high grades 

(4) Not making the same mistakes after 

receiving feedback 

30. , d  cPpk  Øksf /kr gksd j viu s l gikB h dks 
B hd  ml h izdk j e kjrk  gS tSl k ml s ml d s ? kj 
e s a ml s l tk nh tk rh  gSA ;g mnkgj.k gS %  

(1) f Ø ;k izl wr vu qca/ku d k 

(2) 'k kL= h; v uqca/ku d k 

(3) f ujh{ k.kk Red  vf/k xe d k  

(4) varnZ `f" V  vf/k xe dk 

  30. A child angrily hits a playmate in the 

same way that he has been punished at 

home. It is an example of : 

(1) Operant conditioning  

(2) Classical conditioning 

(3) Observational learning  

(4) Insightful learning 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

[ fgUnhfgUnhfgUnhfgUnh / HINDI ] 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 

31. okrZfud n`f"V ls v'kq)v'kq)v'kq)v'kq)  'kCn Nk¡fV, % 

(1) izkf.kek= 

(2) lEifdZr 

(3) vkfHktkR; 

(4) dkjZokbZ 

32. lfU/k dh nf̀"V ls vlaxrvlaxrvlaxrvlaxr  fodYi pqfu, % 

(1) rks; $ /kkj = rks;k/kkj 

(2) fo'o $ fe= = fo'okfe= 

(3) ewly $ /kkj = ewlyk/kkj 

(4) lR; $ uk'k = lR;kuk'k 

33. izR;; dh n`f"V ls vlaxrvlaxrvlaxrvlaxr     fodYi pqfu, % 

(1) fuiq.k $ ; = uSiq.; 

(2) bZ'oj $ ; = ,s'o;Z 

(3) Hkfxuh $ ; = Hkkfxus; 

(4) fof'k"V $ ; = oSf'k"V~; 

34. lekl dh ǹf"V ls dkSu&lk fodYi vlaxrvlaxrvlaxrvlaxr            

gS \ 

(1) iar }kjk iz.khr =  iar iz.khr 

(2) iou ls pyus okyh pDdh = iupDdh 

(3) og tks p{kq ls Jo.k djs = p{kqJok 

(4) lekpkj ds fy, i= = lekpkji= 

35. ,dopu ls cgqopu cus 'kCnksa esa vlaxrvlaxrvlaxrvlaxr dks 
Nk¡fV, % 

(1) Mkdqvksa 

(2) rjcqtksa 

(3) o/kq,¡ 

(4) Hkkyqvksa 

36. fdl fodYi esa ^vyqd~ rRiq#"k* lekl dk 

iz;ksx gqvk gS \ 

(1) euflt (2) fnfXot; 

(3) loZO;kIr (4) dwieaMwd 

37. ^dejs esa dksbZ g¡l jgk gS* & okD; esa iz;qDr 

loZuke gS % 

(1) fu'p;okpd (2) vfu'p;okpd 

(3) iz'uokpd (4) iq#"kokpd 

38. ^fo'ks"k.k inksa* ds fodkjd rÙo dkSu&dkSu&ls 

gSa \ 

(1) fyax vkSj opu 

(2) fyax] opu vkSj dkjd 

(3) fyax vkSj dkjd 

(4) dky] okP; ,oa iq#"k 
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39. fdl 'kCn esa ^o.kkZxe O;atu lfU/k* dk iz;ksx 

ughaughaughaugha gqvk gS \ 

(1) JhPNk;k 

(2) izPNUu 

(3) e`PNdfVd 

(4) ekr`PNk;k 

40. ^;g ckfydk Qwy ls Hkh dksey gS* & mDr 

okD; fo'ks"k.k dh n`f"V ls fdl voLFkk dk 

okpd gS \ 

(1) ewykoLFkk (2) mÙkjkoLFkk 

(3) mÙkekoLFkk (4) buesa ls dksbZ ugha 

41. fuEu esa ls fdl fodYi esa L=hfyax okpd 

'kCn gS \ 

(1) vk¡lw (2) Vslw 

(3) jrkyw (4) llqjky 

42. ^dj.kdkjd* ;qDr okD; pqfu, % 

(1) dkuksa lquh ckr lR; gksrh gSA 

(2) os flusek ns[kus x, gSaA 

(3) yfyrk xq#th ls dRFkd lh[krh gSA 

(4) bl lkglh Nk= us ,d cPps dks unh esa 

Mwcus ls cpk;kA 

43. o.kZ&fopkj dh n`f"V ls vlaxrvlaxrvlaxrvlaxr fodYi    
pqfu, % 

(1) ,d gh LFkku ls mPpfjr nks lo.kZ Lojksa 
ds ;ksx ls fufeZr Loj mRifÙk ds vk/kkj 
ij ^nh?kZ Loj* dgykrs gSa( tcfd 
fHkUu&fHkUu LFkkuksa ls mPpfjr nks 
fotkrh; Lojksa ds ;ksx ls fufeZr Loj 
^la;qDr Loj* dgykrs gSaA 

(2) vuqLokj O;atuksa dh izÑfr gS( tcfd 
vuqukfld Lojksa dh izÑfr gSA 

(3) ftu Lojksa ds mPpkj.k esa gok ukd ls 
ugha vfirq dsoy eq[k ls fudyrh gS 
mUgsa ^lkuqukfld* Loj dgk tkrk gS 
tcfd ftu Lojksa ds mPpkj.k esa ok;q 
eq[k ds lkFk&lkFk ukfldk ls Hkh fudyrh 
gS mUgsa ^fujuqukfld Loj* dgk tkrk gSA 

(4) fgUnh o.kZekyk esa 'k "k l g o.kZ la?k"khZ 
gSa tcfd p N t > vkfn o.kZ Li'kZ 
la?k"khZ gSaA 

44. ^gelQ ðð ððj vxj ,d&nwljs dks le> ysa rks 
thou vklku gks tk,xk* & mDr okD; fdl 
dky ls lacaf/kr gS \ 

(1) gsrqgsrqen~ Hkfo"; (2) laHkkO; Hkfo";r~ 

(3) lkekU; Hkfo";r~ (4) lafnX/k orZeku 

45. ^'kCndks'k* esa 'kCnkuqØe dh n`f"V ls fuEu esa 

ls lghlghlghlgh ¼vkjksgh½ Øe okyk fodYi gS % 

(1) fDy"V] Øe] Dykafr] {k.k 

(2) {k.k] Øe] Dykafr] fDy"V 

(3) Øe] Dykafr] fDy"V] {k.k 

(4) Dykafr] Øe] fDy"V] {k.k 
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[ vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH ] 

Direction : Answer the following questions by selecting the most appropriate option.    

46. Choose the word in which the prefix 

dis − is incorrectly used : 

(1) Disbelief  

(2) Disobedience 

(3) Discomfort  

(4) Discussion 

47. Complete the sentence using the correct 

option : 

George has travelled a lot. He ………… 

speak four languages. 

(1) may (2) can 

(3) need (4) must not 

48. Choose the correct option for the blank 

given : 

He found her blue ford escort in the car 

park. ………… vehicle was locked and 

the lights were off. 

(1) A (2) An 

(3) The (4) zero article 

49. They rested when evening came.  

The underlined group of words in the 

above sentence is a/an : 

(1) Adjective clause  

(2) Noun clause 

(3) Adverb clause  

(4) Conjunction clause 

50. Choose the word with the incorrect 

suffix 'ship' : 

(1) Friendship (2) Membership 

(3) Relationship (4) Argueship 

51. Which of the options given below is the 

correct indirect form of the given 

sentence ? 

He said, 'I have passed the examination'. 

(1) He said that he had passed the 

examination. 

(2) He told I have passed. 

(3) He said he must have passed the 

examination. 

(4) He informed us of his passing. 

52. Choose the correct synonym of the 

word 'contaminate' : 

(1) Defile (2) Rehabilitate 

(3) Detach (4) Valid 
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53. Choose the correct plural of the word 

'species' : 

(1) Specis 

(2) Species 

(3) Speceis  

(4) Specieses 

54. Choose the correct preposition for the 

blank given below : 

She had great affection …………. her 

grandchildren. 

(1) within (2) into 

(3) against (4) for 

55. The old man was tired of walking.  

The underlined word in the sentence is 

used as a : 

(1) Participle  

(2) Gerund 

(3) Noun  

(4) Adverb 

56. Choose the correct form of the verb : 

Gymnastics …………… my favourite 

sport. 

(1) is (2) are 

(3) were (4) do 

57. Choose the correct option of the 

underlined phrasal verb : 

We must cut down expenses or we will 

be getting into debt. 

(1) Reduce in size or amount  

(2) Appear 

(3) Expose  

(4) Rise to the surface 

58. Choose the correct form of the verb 

'play' from the options below : 

They ………….. (play) since four 

O'clock. 

(1) have played  

(2) will play 

(3) play  

(4) have been playing 

59. Choose the correct past tense and past 

participle of the verb 'Begin' : 

(1) Began, Begun  

(2) Begun, Begun 

(3) Begin, Began  

(4) Begun, Began 

60. Choose the correct synonym of the 

word 'Pinnacle' : 

(1) Peak (2) Pass 

(3) Foothills (4) Deep 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

[ ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkkkkekU; Kku ,oa vfHkKkuekU; Kku ,oa vfHkKkuekU; Kku ,oa vfHkKkuekU; Kku ,oa vfHkKku / QUANTITATIVE 

APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ] 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfpr lcls mfpr lcls mfpr lcls mfpr fodYi pqfu,A 
Direction : Answer the following questions by selecting the most appropriate option.    

61. izR;sd la[;k 10, 12, 15 rFkk 18 ls iw.kZ 
foHkkftr gksus okyk U;wure iw.kZ oxZ gS % 
 

(1) 876 (2) 900 

(3) 981 (4) 1024 

  
61. The least perfect square number which 

is exactly divisible by :  

 10, 12, 15 and 18 

(1) 876 (2) 900 

(3) 981 (4) 1024 

62. C dk firk A gS vkSj D, B dk iq= gSA A 

dk HkkbZ E gSA vxj D dh cgu C gS] rks B 

vkSj E dk D;k lEcU/k gS \ 

(1) iq=h  

(2) lkyk 

(3) ifr  

(4) lkyh 

  
62. A is the father of C and D is the son of 

B. E is the brother of A. If C is the sister 

of D, how is B related to E ? 

(1) Daughter  

(2) Brother-in-law 

(3) Husband  

(4) Sister-in-law 

63. fdlh lkadsfrd Hkk"kk esa 'CERTAIN' dk dwV 
'kCn 'XVIGZRM', 'SEQUENCE' dk dwV 
'kCn 'HVJFVMXV' gks] rks 'MUNDANE' 

'kCn dk dwV gksxk % 

(1) NFMWZMX  

(2) NFMWMZX 

(3) NFMWZMV  

(4) NFWMZMV 

  

63. In a certain code, 'CERTAIN' is coded 

as 'XVIGZRM', 'SEQUENCE'  is coded 

as 'HVJFVMXV', then how would 

'MUNDANE' be coded ? 

(1) NFMWZMX  

(2) NFMWMZX 

(3) NFMWZMV  

(4) NFWMZMV 
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64. fuEu esa ls dkSu&lk 'kCn "DICTIONARY" 

ds v{kjksa dk iz;ksx djrs gq, ughaughaughaugha cuk;k tk 
ldrk gS \ 

(1) RATION  

(2) DAIRY 

(3) NATION  

(4) ACTION 

  
64. Which of the following words cannot 

be formed by using letters of word 

"DICTIONARY" ? 

(1) RATION  

(2) DAIRY 

(3) NATION  

(4) ACTION 

65. ;fn P, Q dk HkkbZ gS] R, P dk firk gS] S, T 

dk HkkbZ gS] T, Q dh csVh gS] rks S ds pkpk 
dkSu gSa \ 

(1) R (2) Q 

(3) T (4) P 

  
65. If P is brother of Q, R is father of P, S is 

brother of T. T is daughter of Q, then 

paternal uncle of S is : 

(1) R (2) Q 

(3) T (4) P 

66. "BRIGHTER" 'kCn ds v{kjksa ds fdrus ,sls 
;qXe gSa] ftuds chp mrus gh v{kj gSa ftrus 
fd vaxzsth o.kZekyk esa gksrs gSa \ 
 

(1) 4 (2) 2 

(3) 1 (4) 3 

  
66. How many pairs of the letters does the 

word "BRIGHTER" contain in such that 

the two letters of the pair have as many 

letters between them in the word as 

there are in the English alphabet ? 

(1) 4 (2) 2 

(3) 1 (4) 3 

67. ;fn 
5

4
=

y

x  gks] rks 








+

−
−

xy

xy

2

2

7

4  dk eku 

gS % 

(1) 
7

1
  

(2) 
7

3
 

(3) 
3

1
  

(4) 1 

  
67. If  

5

4
=

y

x
, then value of 









+

−
−

xy

xy

2

2

7

4
 

is : 

(1) 
7

1
  

(2) 
7

3
 

(3) 
3

1
  

(4) 1 
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68. ,d O;kikj esa] A o C ds fuos'k dk vuqikr 
2 : 1 gS tcfd A o B ds chp fuos'k dk 
vuqikr 3 : 2 gSA ;fn mudk dqy ykHk #i;s 
1,573 gks] rks B dks fdruk /ku feysxk \ 
 

(1) 363 #0  

(2) 484 #0 

(3) 605 #0  

(4) 726 #0 

  68. In a business, A and C invested amounts 

in the ratio 2 : 1, whereas the ratio 

between amounts invested by A and B 

was 3 : 2. If their total profit is Rs. 1,573. 

How much amount B will receive ? 

(1) Rs. 363  

(2) Rs. 484 

(3) Rs. 605  

(4) Rs. 726 

69. ,d vkneh vius iq= ls 14 o"kZ vk;q esa cM+k 
gS] nks o"kZ ckn] mldh vk;q vius iq= dh 
vk;q dh nqxquh gksxhA rks iq= dh orZeku vk;q 
D;k gS \ 

(1) 8 o"kZ  

(2) 10 o"kZ 

(3) 12 o"kZ  

(4) 14 o"kZ 

  69. A man is 14 years older than his son. 

After two years, his age will be twice 

the age of his son. The present age of 

his son is : 

(1) 8 years  

(2) 10 years 

(3) 12 years  

(4) 14 years 

70. Ükà[kyk esa =qfV iw.kZ la[;k Kkr dhft, % 

10, 12, 28, 90, 360, 1850 

(1) 12 (2) 28 

(3) 90 (4) 360 

  70. Find the wrong number in the series : 

10, 12, 28, 90, 360, 1850 

(1) 12 (2) 28 

(3) 90 (4) 360 

71. 28 vke ds isM+ksa] 42 lsc ds isM+ksa o 21 larjs 
ds isM+ksa dks iafDr ds vk/kkj ij bl izdkj ls 
yxk;k tkuk gS fd blesa izR;sd iafDr esa dsoy 
,d gh izdkj ds leku la[;k esa isM+ gksaA rks 
lHkh isM+kas dks yxkus ds fy, U;wure iafDr;ksa 
dh la[;k gksxh % 

(1) 9 (2) 10 

(3) 11 (4) 13 

  71. There are 28 mango trees, 42 apple trees 

and 21 orange trees have to be planted in 

rows such that each row contains the 

same number of trees of one variety 

only. The minimum number of rows in 

which the above trees may be planted is : 

(1) 9 (2) 10 

(3) 11 (4) 13 
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72. A dh pky B ls nqxquh rFkk B dh pky C ls 
frxquh gS] ;fn fdlh nwjh dks C, 54 feuV esa 
r; djrk gS] rks B fdrus le; esa r;     
djsxk \ 

(1) 9 feuV (2) 18 feuV 

(3) 12 feuV (4) 15 feuV 

  72. A is twice as fast as B and B is thrice as 

fast as C. If some distance is covered by 

C in 54 minutes, then in how much time 

will B cover ? 

(1) 9 minutes (2) 18 minutes 

(3) 12 minutes (4) 15 minutes 

73. ;fn vk;rkdkj IykWV dh yEckbZ ,oa pkSM+kbZ 
Øe'k% 50% rFkk 20% c<+kbZ tkrh gS] rks 
blds {ks=Qy esa fdrus xquk o`f) gksxh \ 
 

(1) 
3

1
 (2) 

3

2
 

(3) 
5

1
 (4) 

5

4  

  73. If the length and breadth of a 

rectangular plot be increased by 50% 

and 20% respectively, then how many 

times will its area be increased ? 

(1) 
3

1
 (2) 

3

2
 

(3) 
5

1
 (4) 

5

4
 

74. 10 yhVj nw/k esa 8% ikuh gS] blesa fdruk 
'kq) nw/k feyk;k tk, ftlls bl feJ.k esa 
ikuh 4% jg tk;s \ 

(1) 6 yhVj (2) 8 yhVj 

(3) 10 yhVj (4) 15 yhVj 

  74. 10 litres of milk contains 8% water. What 

quantity of pure milk should be added to 

this mixture to reduce this to 4% water ? 

(1) 6 litres (2) 8 litres 

(3) 10 litres (4) 15 litres 

75. ;fn 0cossin =− AA  gks] rks 
AA

44 cossin +  dk eku gksxk % 
(1) 0 (2) 1 

(3) 
2

1
 (4) 

4

3  

  75. If 0cossin =− AA , then the value  of 

AA
44 cossin +  is : 

(1) 0 (2) 1 

(3) 
2

1
 (4) 

4

3
 

76. ,d uko] fuf'pr nwjh dks vuqizokg esa 
2

1  

?k.Vs esa r; djrh gS tcfd mlh nwjh dks 

okilh esa 
2

1
1  ?k.Vs esa r; djrh gS ;fn unh 

5 fdeh izfr ?k.Vk dh xfr ls cgrh gS] rks 
fLFkj ikuh esa uko dh xfr Kkr dhft, % 

(1) 10 fdeh@?k.Vk (2) 12 fdeh@?k.Vk 

(3) 13 fdeh@?k.Vk (4) 15 fdeh@?k.Vk 

  76. A boat covers a certain distance 

downstream in 
2

1  hour, while it comes 

back in 
2

1
1  hours. If the speed of the 

stream be 5 kmph. What is the speed of 
the boat in still water ? 

(1) 10 kmph (2) 12 kmph 

(3) 13 kmph (4) 15 kmph 
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77. ;fn fdlh dksM Hkk"kk eas 'pit dar na' dk 

rkRi;Z ßrqe vPNs gksÞ] 'dar tok pa' dk 
rkRi;Z ßvPNk vkSj cqjkÞ 'tim na tok' dk 

rkRi;Z ßos cqjs gSaÞA mlh Hkk"kk eas ßosÞ ds fy, 

dkSu&lk 'kCn gS \ 

(1) tim (2) tok 

(3) na (4) pit 

  77. If in a code language 'pit dar na' means 

"you are good", 'dar tok pa' means 

"good and bad", 'tim na tok' means 

"they are bad". In the same language 

which word stands for "they" ? 

(1) tim (2) tok 

(3) na (4) pit 

78. ;fn ^nf{k.k&iwoZ* dks ^iwoZ*] mÙkj&if'pe dks 

^if'pe* ^nf{k.k&if'pe* dks ^nf{k.k* dgk 
tkrk gS rFkk blh izdkj vkxs Hkh jgrk gS] rks 
^mÙkj* dks D;k dgk tk,xk \ 

(1) nf{k.k (2) mÙkj&if'pe 

(3) mÙkj&iwoZ (4) mÙkj 

  
78. If 'South-East' is called 'East', North-

West is called 'West' 'South-West' is 

called 'South' and so on, what will 

'North' be called ? 

(1) South (2) North-West 

(3) North-East (4) North 

79. ,d rhu vadksa dh la[;k 4p3 esa 984 tksM+us 
ij ,d pkj vadksa dh la[;k 13q7 izkIr gksrh 
gSA ;fn 13q7, 11 ls HkkT; gS] rks (q – p) dk 
eku gksxk % 

(1) 8 (2) 9 

(3) 7 (4) 11 

  
79. A three digit number 4p3 is added to 

984 to get a four digit number 13q7. If 

13q7 is divisible by 11, then the value 

of (q – p) will be : 

(1) 8 (2) 9 

(3) 7 (4) 11   

80. fn, x, lehdj.k dks larqfyr djus rFkk '*' 

fpUgksa ds izfrLFkkiu ds fy, xf.krh; fpUgksa dk 
lgh Øe lewg pqfu, %  

 9 * 7 * 2 * 3 * 10 

(1) × ÷ + = (2) – + × = 

(3) + – × = (4) × + = – 

  
80. Select the correct combination of 

mathematical signs to replace '*' signs 

and to balance the given equation : 

 9 * 7 * 2 * 3 * 10 

(1) × ÷ + = (2) – + × = 

(3) + – × = (4) × + = – 
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81. f[kykM+h] ftlus 2018 ds ,f'k;kbZ [ksyksa esa 
Lo.kZ ind thrk % 

(1) usgk xks;y 

(2) ctjax iwfu;k 

(3) fodkl Ñ".k ;kno 

(4) lhek iwfu;k 

  81. The player who won the Gold medal in 

the Asian Games-2018 : 

(1) Neha Goyal  

(2) Bajrang Punia 

(3) Vikas Krishan Yadav 

(4) Seema Poonia 

82. fuEufyf[kr esa ls dkSu&lh ufndk lkfgch esa 
lekfgr ughaughaughaugha  gksrh gS \ 
(1) nksgu (2) dlkoVh 

(3) bUnkSjh (4) n`'k}rh    

  82. Which of the following rivulets does 

not converge into Sahibi ? 

(1) Dohan (2) Kasavati 

(3) Indori (4) Drishadvati 

83. {ks= ftlesa duZy tsjkMZ us 1857 ds Økafrdkfj;ksa 
ds fo#) vkØe.k dk usr̀Ro  fd;k % 
 

(1) ikuhir (2) jksgrd 

(3) esokr (4) ukjukSy 

  83. The region in which Colonel Gerrard 

led the counter attack against 1857 

revolutionaries : 

(1) Panipat (2) Rohtak 

(3) Mewat (4) Narnaul 

84. tux.kuk&2011 ds vk/kkj ij gfj;k.kk dh 
iq#"k lk{kjrk nj gS % 

(1) 75.6% (2) 65.9% 

(3) 84.1% (4) 71.4% 

  84. The male literacy rate of Haryana as per 

the census-2011 is : 

(1) 75.6% (2) 65.9% 

(3) 84.1% (4) 71.4% 

85. fuEufyf[kr esa ls fdu jkT;ksa ds lkFk ^^dyslj 
jk"Vªh; ikdZ** viuh lhek lk>k djrk gS \ 
 

(i) fgekpy izns'k 

(ii) mÙkjk[k.M 

(iii) jktLFkku 

(iv) iatkc 

lghlghlghlgh  mÙkj pqfu, % 
(1) (i) rFkk (iv) (2) (i) rFkk (ii) 

(3) (iii) rFkk (iv) (4) dsoy (iv) 

  85. With which of the following states, the 

"Kalesar National Park" shares its 

boundary ? 

(i) Himachal Pradesh 

(ii) Uttrakhand 

(iii) Rajasthan 

(iv) Punjab 

Choose the correct answer : 

(1) (i) & (iv) (2) (i) & (ii) 

(3) (iii) & (iv) (4) Only (iv) 
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86. ia0 usdhjke 'kekZ ds ckjs esa fuEufyf[kr esa ls 

dkSu&lk dFku vlR;vlR;vlR;vlR;  gS \ 

(1) ia0 usdhjke 'kekZ us fryd ds gkse:y 
vkanksyu esa egÙoiw.kZ Hkwfedk fuHkkbZA 

(2) vlg;ksx vkanksyu ds nkSjku mUgksaus 
fHkokuh esa xka/khth dh ,d tulHkk dk 
vk;kstu fd;k FkkA 

(3) mUgksaus fHkokuh ls ,d lkIrkfgd ^lans'k* 
izdkf'kr fd;kA 

(4) 1952 ls 1956 rd oks jkT; lHkk ds 

lnL; jgsA 

  86. Which of the following statements 

about Pt. Neki Ram Sharma is not true ? 

(1) Pt. Neki Ram Sharma played a vital 

role in the Home Rule Movement 

of Lokmanya Tilak.  

(2) He organized a public meeting of 

Gandhiji at Bhiwani during Non-

cooperation Movement. 

(3) He published a Hindi Weekly 

'Sandesh' from Bhiwani. 

(4) He was a Rajya Sabha Member 

from 1952 to 1956. 

87. ^eq[;ea=h fookg 'kxqu ;kstuk* ds ckjs esa 
fuEufyf[kr dFkuksa ij fopkj dhft, % 

(a) ,d fo/kok dh iq=h ds fookg gsrq 
51,000 #i;s dk vuqnku fn;k tkrk   
gSA 

(b) ,slh fo/kok efgyk dh okf"kZd vk; ,d 
yk[k #i;s ls de gksuh pkfg,A 

mi;qZDr esa ls dkSu&lk dFku lghlghlghlgh  gS@gSa \ 

(1) dsoy (a) lgh gSA 

(2) dsoy (b) lgh gSA 

(3) u rks (a) vkSj u gh (b) lgh gSA  

(4) (a) rFkk (b) nksuksa lgh gSaA  

  87. Consider the following statements about 

the 'Mukhya Mantri Vivah Shagun 

Yojana' : 

(a) For the marriage of the daughter of 

a widow a grant of Rs. 51,000 is 

provided. 

(b) The income of such widow lady 

must be less than one lac per annum. 

Which of the above statements is/are 

correct ? 

(1) Only (a) is correct.  

(2) Only (b) is correct. 

(3) Neither (a) nor (b) is correct. 

(4) Both (a) and (b) are correct. 

88. fuEufyf[kr esa ls dkSu&lh Qly ^HkkokUrj 
Hkjik;h ;kstuk* ds vUrxZr lfEefyr ughaughaughaugha  gS \ 
 

(1) xUuk (2) vkyw 

(3) VekVj (4) I;kt 

  88. Which of the following crops does not 

cover under the 'Bhavantar Bharpayee 

Yojana' ? 

(1) Sugarcane (2) Potato 

(3) Tomato (4) Onion 
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89. fuEufyf[kr esa ls dkSu&lk fpf=r /kwlj 
e`n~HkkaM ¼ih0 th0 MCY;w0½ LFky gS \ 

(1) cukoyh  

(2) ckyw 

(3) Hkxokuiqjk  

(4) fHkjkuk 

  
89. Which of the following is a Painted 

Grey Ware (PGW) site ? 

(1) Banawali   

(2)  Balu 

(3) Bhagawanpura 

(4)  Bhirrana 

90. fuEufyf[kr dks lqesfyr dhft, % 

dsUnzdsUnzdsUnzdsUnz    ftykftykftykftyk    

A. lsaVj vkWQ ,fDlysal 
QkWj osftVscy 

(i) dq#{ks= 

B. lsaVj vkWQ ,fDlysal 
QkWj ¶ykWolZ 

(ii) fljlk 

C. lsaVj vkWQ ,fDlysal 
QkWj ÝwV~l 

(iii) >T>j 

D. bafVxzsVsM ch&dhfiax 
MsoyiesaV lsaVj 

(iv) djuky 

lghlghlghlgh  dwV pqfu, % 

 A B C D 

(1) (i) (ii) (iii) (iv) 

(2) (i) (iii) (ii) (iv) 

(3) (iv) (ii) (iii) (i) 

(4) (iv) (iii) (ii) (i) 

  
90. Match the following : 

Center District 

A. Center of Excellence 

for Vegetable 

  (i) Kurukshetra 

B. Center of Excellence 

for Flowers 

  (ii) Sirsa 

C. Center of Excellence 

for Fruits 

  (iii) Jhajjar 

D. Integrated Bee-keeping 

Development Center 

  (iv) Karnal 

Choose the correct code : 

 A B C D 

(1) (i) (ii) (iii) (iv) 

(2) (i) (iii) (ii) (iv) 

(3) (iv) (ii) (iii) (i) 

(4) (iv) (iii) (ii) (i) 
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H kk xH kk xH kk xH kk x – IV / PART – IV    
j ktuh fr j ktuh fr j ktuh fr j ktuh fr fo Kkufo Kkufo Kkufo Kku / POLITICAL SCIENCE 

funs Z'k %funs Z'k %funs Z'k %funs Z'k %     fuEufy f[kr iz'u ks a d s mÙkj nsu s d s fy ,     l cl s mfp r l cl s mfp r l cl s mfp r l cl s mfp r f od Yi p qfu,A 
Direction : Answer the following questions by selecting the most appropriate option.    

91. fuEu kafd r e s a ls dkSu-l s 'kCn tEe w-d 'e hj ds 
l af o /kk u d h  izLrko uk es a 'kkfey u gh au gh au gh au gh a gS a \ 

  

(I) l ek toknh (II) iaFk fujis{k 

(III) ca/kqrk (IV) v [k .Mrk 

l ghl ghl ghl gh  f od Yi gS % 

(1) I, II ,o a III (2) I, II ,o a IV 

(3) II, III , oa IV (4) I, III , oa IV 

  
91. Which of the following words are not 

included in the Preamble of the Jammu 

and Kashmir's Constitution ? 

(1) Socialist (II) Secular 

(III) Fraternity (IV) Integrity 

Correct option is : 

(1) I, II and III (2) I, II and IV 

(3) II, III and IV (4) I, III and IV 

92. l wp hl wp hl wp hl wp h     – I d ks l wphl wphl wphl wph     – II d s lk Fk l qesf yr 
d hft ;s rFk k l wf p;ks a d s uh ps fn;s x;s d wV ks ad wV ks ad wV ks ad wV ks a dk 

iz;k sx d jrs gq,  l ghl ghl ghl gh  mÙkj pqfu,  % 

l wphl wphl wphl wph     - I 

¼fo pk j½¼fo pk j½¼fo pk j½¼fo pk j½     
l wph  l wph  l wph  l wph  - II 

¼f op kjd ½¼f op kjd ½¼f op kjd ½¼f op kjd ½     

(A) d Y;k.k  d h 

l e kurk 

(I) veR ;Z l su 

(B) l al k/k uks a d h 
l e kurk 

(II) tjseh  csUFk e 

(C) l k eF;Z dh 

l e kurk 

(III) ek bd y okYtj 

(D) tf Vy  l e kurk (IV) ,f jd  jkdk so~Ld h 

    

  92. Match List – I with List – II and select 

the correct answer using the codes 

given below the list : 

List    - I 

(Ideas) 

List    - II 

(Thinkers) 

(A) Equality of 

Welfare 
(I) Amartya Sen 

(B) Equality of 

Resources 
(II) Jeremy Bentham 

(C) Equality of 

Capabilities 
(III) Michael Walzer 

(D) Complex 

Equality 
(IV) Eric Rakowski 
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d wV  %d wV  %d wV  %d wV  %     

 (A)      (B)      (C)      (D)  

(1) (II)     (IV)     (I)       (III) 

(2) (I)      (II)     (III)      (IV) 

(3) (IV)    (III)    (II)      (I) 

(4) (IV)    (II)     (III)     (I) 

Codes : 

 (A)      (B)      (C)      (D)  

(1) (II)     (IV)     (I)       (III) 

(2) (I)      (II)     (III)      (IV) 

(3) (IV)    (III)    (II)      (I) 

(4) (IV)    (II)     (III)     (I) 

93. fuEu kafd r e s a l s fd l fopkjd  us l o ZizFke 

^Xy ksd ykbt s'ku* dk f op kj fn;k \ 

 

(1) f LVx~fy V~t 

(2) , UFk ksuh fxMsUl 

(3) e k'k Zy 

(4) jksy S aM jkWcV Z ~l u 

  
93. Who among the following thinkers has 

given the idea of 'Glocalisation' for the 

first time ? 

(1) Stiglitz 

(2) Anthony Giddens 

(3) Marshal 

(4) Roland Robertson 

94. fuEu kafd r es a l s fd l fop kjd  us l aifÙk ds 

vf /kd k j d k s ^l oZizeq[k e kuo vf/kd kj* ek uk 

gS a \ 

(1) t kWtZ yqd kp 

(2) jkWcV Z uk Wftd 

(3) t kWu jk Yl 

(4) l h0 ch0 eSDQ l Zu 

  94. Which one of the following thinkers 

asserted that Right to Property is the 

'Foremost Human Right' ? 

(1) Georg Lukacs 

(2) Robert Nozick 

(3) John Rawls 

(4) C. B. Macpherson 
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95. l sd qyjokn d s fl ) kUr esa] f dl u s ml wyh Q ðklys 

d h  vo/kkj.k k dk izfriknu fd ;k gS \ 

 

(1) vrqy d k sgyh 

(2) Hk h[ kw ikjs[k 

(3) ? k u';ke 'kk g 

(4) jkt ho  Hkk xZo 

  95. Who has propounded the, concept of 

principled distance in the theory of 

secularism ? 

(1) Atul Kohli  

(2) Bhikhu Parekh 

(3) Ghanshyam Shah  

(4) Rajeev Bhargava 

96. l wp hl wp hl wp hl wp h     – I d ks l wphl wphl wphl wph     – II d s lk Fk l qesf yr 

d hft ;s rFk k l wf p;ks a d s uh ps fn;s x;s d wV ks ad wV ks ad wV ks ad wV ks a dk 

iz;k sx d jrs gq, ] l ghl ghl ghl gh  mÙk j p qfu, % 

l wp hl wp hl wp hl wp h     - I 

¼f op kjd ½¼f op kjd ½¼f op kjd ½¼f op kjd ½     

l wp h l wp h l wp h l wp h - II 

¼f op kj½¼f op kj½¼f op kj½¼f op kj½     

(A) ckd wf uu (I) vjkt d rkoknh 

Je kf /kiR;o kn 

(B) Ø ksik sVf d u (II) uSf rd  vjktd rk ok n 

(C) V kWYl Vk W; (III) vfgal kRed  

vjkt d rkokn 

(D) l ksjsy (IV) l k E;ok nh 

vjkt d rkokn 

  
96. Match List – I with List – II and select 

the correct answer using the codes 

given below the lists : 

List    - I 

(Thinkers) 

List    - II 

(Ideas) 

(A) Bakunin (I) Anarcho-

Syndicalism 

(B) Kropotkin (II) Moral 

Anarchism 

(C) Tolstoy (III) Non-Violent 

Anarchism 

(D) Sorel  (IV) Communist 

Anarchism 
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d wV  %d wV  %d wV  %d wV  %     

 (A)     (B)     (C)     (D)  

(1) (I)      (II)     (III)    (IV) 

(2) (IV)   (III)    (II)      (I) 

(3) (III)    (II)     (IV)    (I) 

(4)  (II)   (IV)      (I)     (III) 

Codes : 

 (A)     (B)     (C)     (D)  

(1) (I)      (II)     (III)    (IV) 

(2) (IV)   (III)    (II)      (I) 

(3) (III)    (II)     (IV)    (I) 

(4)  (II)   (IV)      (I)     (III) 

97. fd l  f o pkjd  us uk xf jd  l e kt  dk s ppZ o 

/k eZf ujis{k jk T; d s ch p ^Lo Sf PNd-uk xf jd h; 

l k> snkjh * Lohd k j f d ;k gS \ 

(1) Fk kWel gkWCl  

(2) Fk kWel , Do hu kl  

(3) l sUV vk WxLVk bu 

(4) M sfo M g~;we 

  97. Who believes – Civil Society as a 

'mutually-civilizing partnership' 

between Church and Secular State ? 

(1) Thomas Hobbes 

(2) Thomas Aquinas 

(3) Saint Augustine 

(4) David Hume 

98. fuEu kafd r es a l s d k Su-l s fczfV 'k l afo /kk u ds 

òksr gSa \ 

(I) l al nh; vf/k fu;e 

(II) y ksd  f of /k 

(III) l al n d s fu;e vkSj jhfr-f jo k t 

(IV) vf Hkl e; 

  98. Which of the following are the sources 

of British Constitution ? 

(I) Parliamentary Acts 

(II) Common Law 

(III) Law and Customs of Parliament 

(IV) Conventions 
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l ghl ghl ghl gh   f od Yi gS % 

(1) I, III ,o a IV  

(2) I, II, III ,o a IV 

(3) I, II ,o a III  

(4) I, II ,o a IV 

Correct option is : 

(1) I, III and IV  

(2) I, II, III and IV 

(3) I, II and III  

(4) I, II and IV 

99. yk sd l Hkk e sa l jd kjh ny d k eq[; l p srd 

d kSu gksrk gS \ 

(1) l al nh; lfp o 

(2) l al nh; dk;Z ea= h 

(3) x`g e a= h 

(4) y ksd l Hkk  d k egk lfp o 

  99. Who is Chief Whip of the Government 

party in Lok Sabha ? 

(1) Parliamentary Secretary 

(2) Minister of Parliamentary Affairs 

(3) Minister of Home Affairs 

(4) Secretary General of Lok Sabha 

100. ^^O ;f Drx r :i l s eSa bl ckr d ks dksbZ egÙo 

ugh a nsrk  f d bl s vk i la? k h; lafo/kku ;k  

, d kR ed  l af o/kku vF ko k fdl h vU ; uk e l s 

iqd kjrs gS aA vxj l afo /kku ge kjs mís';  d ks iwjk 

d jrk jgs rks u ke ls d ksbZ Qd Z ugha iM+rkA**  

;g d F ku f dl d k gS \ 

 

(1) , u0 th 0 vk;axj  

(2) t ok gjy ky  u sg: 

(3) M kW0 jk tsUnz izlkn 

(4) d s0 lh 0 Ogh;j  

  100. "Personally, I do not attach any 

importance to the label which may be 

attached to it – whether you call it a 

Federal Constitution or Unitary 

Constitution or by any other name. It 

makes no difference so long as the 

constitution serves our purpose."  

Who made this statement ? 

(1) N. G. Ayyangar 

(2) Jawaharlal Nehru 

(3) Dr. Rajendra Prasad 

(4) K. C. Wheare 
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101. fo 'o  jkt uh fr es a ^ ykax l kbfd y F;ksjh * dk 

izeq[ k iz.ksrk dk Su gS \ 

(1) d su sFk  o kYV~t 

(2) t sEl  yo ykWd 

(3) jkWcV Z eSd ue kjk 

(4) t kWtZ e ksMsyLd h 

  101. Who is the chief architect of the 'Long 

Cycle Theory' in global politics ? 

(1) Kenneth Waltz 

(2) James Lovelock 

(3) Robert McNamara 

(4) George Modelski 

102. fuEu kafd r e s a l s fdl  y s[k d  d k  ;g f op kj Fkk 

fd  Hkk jr d k  jk" V ªifr l afo /k ku }k jk iznÙk 

'kf Dr;ks a dks gLrxr d j rk u k'k kg cu l d rk 

gS \  

 

(1) , syu XysMfgy 

(2) f 'kok jko 

(3) isUM sjy ewu 

(4) f of y;e vk s0 Mxy l 

  
102. Which one of the following authors 

expressed concern that the President of 

India might use the powers apparently 

granted him by the Constitution to make 

himself a dictator ? 

(1) Alan Gledhill 

(2) Shiva Rao 

(3) Penderel Moon  

(4) William O. Douglas 

103. fuEu kafd r e s a l s dkSu-lk fpU rd  ^l alk /ku 

l erko kn* d s f op kj l s lacfU/kr gS \ 

 

(1) , e0 o kYtj  

(2) vk j0 uk sftd 

(3) jksu kYM M~o k sfd Zu 

(4) , Q 0 ,0 gs;d  

  
103. Which one of the following thinkers is 

related to idea of 'resource 

egalitarianism' ? 

(1) M. Walzer 

(2) R. Nozick 

(3) Ronald Dworkin 

(4) F. A. Hayek 
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104. fuEu kafd r es a l s d kSu-lh  'kCnko yh ph u l s 

l acfU /kr ughaughaughaugha gS \ 

(1) f ef yV ªh-baMfLV ª;y  dkWE iy sDl 

(2) xz sV  y hi Q kWjo M Z 

(3) gUM ªsM ¶yk ol Z ewo es aV 

(4) nh f gLV ksf jd y ykax ek pZ 

  104. Which one of the following terminology 

is not related to China ? 

(1) Military-Industrial Complex 

(2) Great Leap Forward 

(3) Hundred Flowers Movement 

(4) The Historical Long March 

105. fuEu kafd r es a l s d kSu ^rhu ihf <+;ks a ds 

e kuok f/kd kj*  f o pkj l s l Ecf U/k r gS \ 

(1) d kjsy o lkd 

(2) p ksELd h 

(3) , Mo M Z l bZn 

(4) y wck u 

  
105. Who among the following is associated 

with the idea of 'three generations of 

human rights' ? 

(1) Karel Vasak 

(2) Chomsky 

(3) Edward Said 

(4) Luban 

106. fuEu kafd r e s a l s fd l  Hkkjrh; y s[ kd @fo pk jd 

u s f o'o l jdk j d s f opkj dk  fojk s/k d jrs gq, 

o Sf'od  Lrj ij chl  l s iPp hl  {k s=h ; egkl a?k 

cuk us d k  fo pkj izLrqr fd ;k  \ 

 

(1) jtu h d ksB kjh 

(2) Jh  vjfo Un 

(3) czã k  p syk uh 

(4) t ;izd k 'k uk jk;.k 

  106. Which one of the following 

Authors/Thinkers of India has opposed 

the idea of world government and 

proposed a system of twenty to twenty 

five regional federations on global level ? 

(1) Rajni Kothari 

(2) Sri Aurobindo 

(3) Brahma Chellaney 

(4) Jayaprakash Narayan 
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107. fuEu kafd r e s a l s fdl us ^izHkqR o tkfr* d k 

fo p kj izLrqr f d ;k \ 

(1) jtu h d ksBk jh 

(2) , e0 , u0 J hf uo kl  

(3) vrqy d k sgyh 

(4) ? k u';ke 'kk g 

  
107. Who among the following has given the 

idea of 'dominant caste' ? 

(1) Rajni Kothari 

(2) M. N. Sriniwas 

(3) Atul Kohli 

(4) Ghanshyam Shah 

108. fd l  l fefr@vk ;k sx us ;g  f lQ kfj'k  dh  fd 

jkT;l Hk k d k s l Pps vFkks Za es a ^l a? kh ;*  mPp l nu  
cuk us d s fy ;s bl esa l Hkh jk T;k s a d k l eku 
izfrfuf/kRo  gksu k pkf g;s]  bl l eF kZu ds l kFk 

fd  l al nh; O;o LFkk  f ujUrj tkjh  jgs \ 
 

(1) jkt eU uk j l fefr 

(2) l jd kf j;k vk ;k sx 

(3) iq aNh  vk;ksx 

(4) iz'kkl f ud  l q/kk j vk ;k sx 

  108. Which Committee/Commission 

recommended making the Rajya Sabha 

into a truly 'Federal' upper house with 

equal representation for each State, 

while continuing to support the 

Parliamentary System ? 

(1) Rajmannar Committee 

(2) Sarkaria Commission 

(3) Punchhi Commission 

(4) Administrative Reforms Commission  

109. fuEu kafd r e s a l s fd l fopkjd  us l o ZizFke 
^f op kj/k kjk*  'k Cn d k iz;ksx ^fo p kjks a d s fo Kk u* 

d s vFkZ e s a fd ;k  Fk k \ 

(1) t s0 ts0 :l ks  

(2) nsLrw n V ªsl h 

(3) f ll jks  

(4) gjcV Z Lis al j 

  109. Which of the following thinkers first 

used term 'ideology as science of ideas' ? 

 

(1) J. J. Rousseau  

(2) Destutt de Tracy 

(3) Cicero  

(4) Herbert Spencer 
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110. ^izHkql Ùkk  l E iU u jkT; cuk e egk ck tkj jkT;* 

d k  fo pk j fd l us izLrqr f d ;k \ 

(1) vk syl su  

(2) , fR tvk suh 

(3) V syj  

(4) vk Wl ckWu Z 

  
110. Who has given the idea of 'Sovereign 

State Versus Supermarket State' ? 

(1) Olsen  

(2) Etzioni 

(3) Taylor 

(4) Osborne 

111. fd l  lf ef r u s ;g  v uq'kal k d h  F kh f d 

yk sd l Hkk e sa e kU ;rk iz kI r l cl s cM+ s foi{kh  ny 

d s u srk d ks f oi{kh  ny d s usrk d s :i esa 

e kU;rk nh  tku h pkfg;s \ 

(1) f nu s'k xksLo keh l fefr 

(2) l Dl suk  l fefr 

(3) ikxs lf ef r 

(4) l aFkk ue ~ l fefr 

  111. Which committee recommended that 

the leader of largest recognized 

opposition party should be recognized 

as the leader of the opposition ? 

(1) Dinesh Goswami Committee 

(2) Saxena Committee 

(3) Page Committee 

(4) Santhanam Committee 

112. ^^fgUnw lkekU; laLÑfr] lkekU; bfrgkl] lkekU; 

Hkk"kk] lkekU; ns'k vkSj lkekU; /keZ ds }kjk 

ijLij vkc) gksus ds dkj.k ,d jk"Vª gSA**  

;g d F ku f dl d k gS \ 

 

 (1) f ou k;d  nkeksnj lko jd j 

(2) cky  xaxk/k j f ryd 

(3) Lo ke h n;ku an l jLo rh 

(4) Lo ke h f oo sd k uan 

  112. "The Hindu are a nation bound by 

common culture, a common history, a 

common language, a common country 

and common religion." 

Who made this statement ? 

(1) Vinayak Damodar Savarkar 

(2) Bal Gangadhar Tilak 

(3) Swami Dayanand Saraswati 

(4) Swami Vivekananda 
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113. Hkk jr d s l afo /kk u d s fd l  vu qPNsn es a 

vUrjkZT; if j" kn~ d s ck js e s a mi cU/ k fd ;k x;k  

gS \ 

(1) 262 (2) 263 

(3) 264 (4) 265 

  113. Which Article of the Constitution of 

India has provisions with respect to an 

Inter-State Council ?  

(1) 262 (2) 263 

(3) 264 (4) 265 

114. fuEu kafd r e s a l s fdl us ^l aLFkkxr cgqyo kn* d k 

fo p kj izLrqr f d ;k \ 

 

(1) o kYt j  

(2) Q wd ks 

(3) jkWcV Z Mk gy  

(4) jkWYl  

  114. Who among the following has 

propounded the idea of 'Organisational 

Pluralism' ? 

(1) Walzer  

(2) Foucault 

(3) Robert Dahl  

(4) Rawls 

115. ^Cy Sd  fLd u] Ogk bV  ek Ld~l * u ked  iqLrd  d k 

ys[ kd  d kSu gS \ 

(1) M sl e aM V wVw  

(2) d su l k jks-o hok 

(3) Ý sat  Q SukWu  

(4) vYcV Z d ke w 

  115. Who is the author of the book 'Black Skin, 

White Masks' ? 

(1) Desmond Tutu  

(2) Ken Saro-Wiwa 

(3) Frantz Fanon  

(4) Albert Camus 
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116. d Fk u d Fk u d Fk u d Fk u  (A) : p kYl Z Vsyj u s euq" ;k s a d ks viuh 

O;k[ ;k d jus o ky s i'kqvk s a d h l aKk nh 

gSA 

d k j.k d k j.k d k j.k d k j.k  (R) : O;k [;k d ju k vius vf LrR o dks 

d k ;e j[k us d k  fo f'k" V rjhd k  gSA 

 

(1) (A) o  (R) nksu ks a lR; gSa rFkk  (R) (A) 

d h l gh O;k[ ;k d jrk gSA 

(2) (A) o (R) nk suk s a lR; gS a]  fdU rq (R) (A) 

d h l gh O;k[ ;k ugh a d jrk  gSA 

(3) (A) l R ; gS] fd Urq (R) vl R; gSA  

(4) (A) vl R ; gS] fd Urq (R) l R; gSA  

  116. Assertion  (A) : Charles Taylor has 

called humans' self- 

interpretating animals. 

Reason     (R) : That interpretation is 

the distinctively human 

mode of being. 

(1) Both (A) and (R) are true and (R) is 

the correct explanation of (A). 

(2) Both (A) and (R) are true, but (R) 

is not the correct explanation of 

(A). 

(3) (A) is true, but (R) is false. 

(4) (A) is false, but (R) is true. 

117. fuEu kafd r e s a l s d kSu-l s Ñ R; Hk kjr l jd kj dh 

vk fFkZd  dk;Z l acU/kh  eaf =e.My  l fefr d s gSa \ 

(I) ns'k d s fy ;s l ql axr vkSj l e kdf yr 

vk fFk Zd u hf r dk <k ¡pk rS;kj d jus gsrq 

vk fFk Zd  #> k uks a] l eL;k vksa v kSj 

l aHkkO ;rkv ks a dk l rr vk /kk j ij 

iqufo Zyksd u d ju kA 

(II) mPp re Lrj i j u hfr l acU/kh  f of u'p ;ks a 

d h vis{kk  d jus o ky s vkfFkZd  {ks= ds 

l Hkh dk;Z-d ykik s a ft ud s vUrxZr f ons'kh 

f uo s'k Hkh  gS] ds ck js e sa f unsZ'k  nsuk  vkSj 

mud k l eUo ; d ju kA 

  
117. Which of the following are the functions 

of the Cabinet Committee on Economic 

Affairs of Government of India ? 

(I) To review on a continuous basis 

economic trends, problems and 

prospects for evolving a consistent 

and integrated economic policy 

framework for the country. 

(II) To direct and co-ordinate all 

activities in the economic field 

requiring policy decisions at the 

highest level including foreign 

investment. 
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(III) Ñ f" k mRiknks a dh dh er f u;r d ju s rFkk 

vk S|k sfxd  d Pph lk exz h vkSj mRik nk s a dh 

ckc r d h er f u;U=.k l s l acaf/ kr fo" k ;ksa 

d ks fuiV k ukA 

(IV) f uo s'k rFkk vk fFkZd  fod kl  d s l ao/kZu gsrq 

f of gr l e;-l he k d s Hkh rj l kaf o f/kd 

iz kf /kd kfj;ksa l s iz kl afxd  fof/k/fofu;e ds 

v/k hu Ñ R;ksa dk fuoZgu d ju s v kSj 

'k fDr;ks a d k  iz;k sx d ju s d h vis{kk 

d ju kA  

 

 

l ghl ghl ghl gh  f od Yi gS %  

(1) I, II ,o a III 

(2) I, II, III ,o a IV 

(3) I, II ,o a IV 

(4) I ,o a IV 

(III) To deal with matters relating to 

fixation of prices of agricultural 

product and price control in respect 

of industrial raw materials and 

products. 

(IV) To require statutory authorities to 

discharge functions and exercise 

powers under the relevant 

law/regulation within the 

prescribed time frames for 

promoting investment and 

economic growth. 

Correct option is : 

(1) I, II and III 

(2) I, II, III and IV 

(3) I, II and IV 

(4) I and IV 

118. d kSfV Y; d s ^e.My  fl )kUr* es a d qy jkT;ks a dh 

l a[ ;k gS % 

(1) 10 (2) 11 

(3) 12 (4) 13 

  
118. The total number of States, according to 

Kautilya's 'Mandal Theory' are : 

(1) 10 (2) 11 

(3) 12 (4) 13 
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119. fuEu kafd r es a l s d kSu-l k ;qXe l gh l qesf yr 

u gh au gh au gh au gh a  gS \ 

iqL rdiqL rdiqL rdiqL rd ys[ kdys[ kdys[ kdys[ kd 

(1) U;w l kbUl  vkWQ  

ikWfyfV Dl 

– ,f jd  ok sxsf yu 

(2) vkWu ik Wo j %  nh  

usp qjy fgLV ªh 

vkWQ  bV ~l  xzksFk 

– cV s Z ªUM M h t ksfo u sy 

(3) , Dl fifj;al , .M 

bV~l  ek sM~l  

– ek bd y vksd 'kk WV 

(4) vkWM Zj ,.M 

fgLV ªh 

– gU uk  vk jsUu 

 

  
119. Which one of the followng pair is not 

correctly matched ? 

Book Author 

(1) New 

Science of 

Politics 

– Eric Voegelin 

(2) On Power : 

The Natural 

History of 

Its Growth 

– Bertrand de 

Jouvenel 

(3) Experience 

and Its 

Modes 

– Michael 

Oakeshott 

(4) Order and 

History 

– Hannah Arendt 

 

120. fuEu kafd r e s a l s fdl  fopk jd  us ;g rd Z fn;k  

gS fd  fod kl  ds jktu hfrd  vk ;k e tc 

vDl j lke kftd  xfr'kh yrk d s l kFk  l ke atL; 

LFk kfir ugha d j ikrs gSa]  rks jktu hf rd 

vO;o LFkk  mRiUu gksrh gS \ 

(1) , Q 0 Q suk Wu  

(2) l Seqvy  gaf Va x~V u 

(3) Ý kafl l  Qwd w;k ek  

(4) t s0 d s0 xk Wycz sFk 

  120. Which of the following thinkers argued 

that the political dimensions of 

development often fail to keep pace with 

social mobilization and thus lead to 

political disorder ? 

(1) F. Fanon  

(2) Samuel Huntington 

(3) Francis Fukuyama  

(4) J. K. Galbraith 
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121. ^xz huihl*  dh LFkkiuk  fdl  o" k Z gqbZ Fkh \ 

 

(1) 1968 (2) 1969 

(3) 1970 (4) 1971 

  121. 'Greenpeace' was established in which 

year ? 

(1) 1968 (2) 1969 

(3) 1970 (4) 1971 

122. Hkk jr d s l afo /kk u dh mísf 'kd k  e sa fd l @fd u 

'kC n@ 'kCnk s a d k iz;k sx fd ;k  x;k gS \ 

 

(a) y ksx   (b)  uk xf jdksa   (c)  O ;f Dr  

(1) (a) ,o a (b) 

(2) (a), (b) , o a (c) 

(3) d so y  (a) 

(4) d so y  (c) 

  122. Among the following, which terms 

has/have been used in the Preamble of 

the Constitution of India ? 

(a) People  (b)  Citizens  (c)  Individual 

(1) (a) and (b) 

(2) (a), (b) and (c) 

(3) Only (a) 

(4) Only (c) 

123. fd l  fo pk jd  dk ;g e kuuk  gS fd  ^ ;q) vU; 

e k/;ek s a l s jktu hf r dh  fujUrj rk gS* \ 

(1) d kyZ o kWu Dy kl fo V~t 

(2) Fk wlh Mh M~l  

(3) e sjh dk sYMj 

(4) e kf VZu ok u Øso sYM 

  
123. Which thinker believes that 'war is 

continuation of politics by other means' ? 

(1) Karl Von Clausewitz 

(2) Thucydides 

(3) Mary Kolder 

(4) Martin Van Creveld 
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124. ^f o[ k.Muok n*  fl )k Ur d s iz.k srk  d kSu gSa \ 

 

(1) gjcV Z ek jD;wt 

(2) gks[ kk Zbej 

(3) t kWd  nfjnk 

(4) gscje kl  

  
124. Who is propounder of theory of 

'Deconstruction' ? 

(1) Herbert Marcuse 

(2) Horkheimer 

(3) Jacques Drrida 

(4) Habermas 

125. fuEu kafd r e s a l s D;k l a;qDr jkT; ve sfjd k ds 

l k Fk Hkkjr d s gkf y;k l aca/kks a l s tqM + k gqvk ugh augh augh augh a 

gS \ 

(1) d qLd ks ?k ks"k .kk 

(2) d kWedkl k 

(3) y sek svk 

(4) d kV~l k ? kwV 

  
125. What among the following is not 

related to India's recent relations with 

the United States of America ? 

(1) CUSCO declaration 

(2) COMCASA 

(3) LEMOA 

(4) CAATSA waiver 

126. l a;qDr jkT; ve sfjd k  d h uhf r d k  uke D;k  

gS] ftl d s varxZr o g ^l h ekorhZ*  ckf YV d 

jkT;ks a , oa iksyS.M es a uk Vk s cyk s a d ks rSu kr d j 

l d rk  gS \ 

(1) l a;qDr ckf YV d  fe'ku 

(2) ;wjksih; fuok j.k igy  

(3) R of jr rSuk rh  d kjZo kbZ 

(4) ckf YVd  e s a uk Vks igy  

  
126. What is the name of United States of 

America's policy under which NATO 

forces could be deployed in the 'front 

line' Baltic States and Poland ? 

(1) Joint Baltic Mission 

(2) European Deterrence Initiative 

(3) Rapid Deployment Action 

(4) NATO Initiative in Baltic 
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127. d sU nz es a xBca/ku l jd kj , o a ml d s iz/kk ue a=h 
d s = qfV iw.kZ ;qXe dk s igpkfu, % 

 

(1) jk" Vªh ; e kspkZ – o h0 ih 0 fl ag 

(2) l a;qDr e ksp kZ – p anz'ks[k j 

(3) jk" Vªh ; turk af=d 

xBcU/k u 

– , 0 ch 0 o k tis;h 

(4) l a;qDr izxfr'kh y 

xBca/k u 

– eue ksgu f l ag 

 

  
127. Identify the incorrect pair of Coalition 

Government at the Centre and its Prime 

Minister : 

(1) National Front – V.P. Singh 

(2) United Front – Chandra 

Shekhar 

(3) National 

Democratic 

Alliance 

– A. B. 

Vajpayee 

(4) United 

Progressive 

Alliance 

– Manmohan 

Singh 

 

128. fuEu e s a l s d kSu-ls f pU rd  ^uo-ek Dl Zok n* l s 

l acfU /kr gS a \ 

(I) f Fk;ksM ksj ,Mksu ks Z 

(II) t kWtZ yqd kp 

(III) e SDl  gk s[kkZbej 

(IV) y qbZ vk YF;wt j 

l ghl ghl ghl gh  mÙkj gS % 

(1) I, II ,o a III 

(2) I, II, III ,o a IV 

(3) I, II ,o a IV 

(4) II, III , oa IV 

  128. Which of the following thinkers are 

associated with 'Neo Marxism' ? 

(I) Theodor Adorno 

(II) Georg Lukacs 

(III) Max Horkheimer 

(IV) Louis Althusser 

Correct answer is : 

(1) I, II and III 

(2) I, II, III and IV 

(3) I, II and IV 

(4) II, III and IV 



 [ 39 ] [ A ] 

Level-3/3307  P. T. O. 

129. fuEu kafd r es a l s d kSu-l k ;qXe l gh l qesf yr 

u gh au gh au gh au gh a  gS \ 

jk T ; d k uk ejk T ; d k uk ejk T ; d k uk ejk T ; d k uk e    jkT; fo /kk ul Hkk e s a jkT; fo /kk ul Hkk e s a jkT; fo /kk ul Hkk e s a jkT; fo /kk ul Hkk e s a 

l h Vks a dh la[ ;kl h Vks a dh la[ ;kl h Vks a dh la[ ;kl h Vks a dh la[ ;k     

(1) jk tLFkk u –  200 

(2) iatk c – 117 

(3) d sjy –  140 

(4) mM +h l k –  147 
 

  
129. Which of the following pair is not 

correctly matched ? 

Name of State Number of Seats in State 

Legislative Assembly 

(1) Rajasthan – 200 

(2) Punjab – 117 

(3) Kerala – 140 

(4) Orissa – 147 
 

130. l af o /kk u d s v uql kj] f uEu kafd r es a l s D;k] 

'kC n'k% jk" V ªifr d h ^'k fDr* ughaughaughaugha  gS % 

(1) v/;kns'k  iz[ ;k fir d juk 

(2) mPp re U;k ;k y; l s ijk e'kZ d ju k 

(3) {k ek  iznku d juk 

(4) l nu ksa e sa vfHkHkk" k.k  vkSj mud ks l ans'k 

Hk stu k 

  130. According to the constitution, what 

among the following is literally not a 

'Power' of the President : 

(1) to promulgate ordinances 

(2) to consult Supreme Court 

(3) to grant pardons 

(4) to address and send messages to 

Houses 

131. inl ksiku d ks ^Ø fed  izfØ ;k* fdl us d gk  gS \ 

 

(1) gsujh  Q s;k sy  

(2) e wus vk Sj f jy s 

(3) gsfeYV u  

(4) f oy ksch 

  
131. Who called Hierarchy as 'Scalar 

Process' ? 

(1) Henry Fayol  

(2) Mooney and Riley 

(3) Hemilton  

(4) Willoughby 
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132. fuEu es a l s fd l  fo pk jd  u s fo 'o jkt uhfr ds 
l U nHk Z e s a ^jk T;ks a dh  O;o LFkk* , o a ^jk T;k sa dk 
l e kt * es a Hksn fd ;k gS \ 

 

(1) M sfo M gsYM 

(2) e kW xs ZUFkkÅ 

(3) d kyZ o kWu Dy kl fo V~t 

(4) gSMyh cqy 

  
132. Who among the following thinkers 

distinguished between 'System of States' 

and 'Society of States' in context to 

Global Politics ? 

(1) David Held 

(2) Morgenthau 

(3) Karl Von Clausewitz 

(4) Hedley Bull 

133. 101osa lafo/kku-l a'kks/ku }k jk jkT; l wp h dh 

fd ru h izfof" V;k¡ f oy ksf ir d h xbZ gS a \ 

 

(1) 4 (2) 3 

(3) 2 (4) 1 

  
133. Through 101st constitutional 

amendment, how many entries of State 

List have been omitted ? 

(1) 4 (2) 3 

(3) 2 (4) 1 

134. fuEu kafd r e s a l s d k Su-l s f o pkjd  ^f oe'khZ 

yk sd rU=* d s fo pk j l s l EcfU/ kr gS a \ 

(I) M sfo M f ey j 

(II) t s0 Mªk btsd 

(III) p kYl Z f yUMCykWe 

(IV) t ks'kqvk dksgsu 

l ghl ghl ghl gh   f od Yi gS % 

(1) I, II vkSj III 

(2) I vkSj II 

(3) I, II vkSj IV 

(4) II, III vkSj IV 

  
134. Which of the following thinkers are 

associated with the idea of 'Deliberative 

Democracy' ? 

(I) David Miller 

(II) J. Drysek 

(III) Charles Lindblom 

(IV) Joshua Cohen 

Correct option is : 

(1) I, II and III 

(2) I and II 

(3) I, II and IV 

(4) II, III and IV 
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135. fuEu kafd r e s a l s dk Su-l h iqLrd  d s ys[kd   

ch0 vk j0 vE csMd j u ghau ghau ghau gha  gS a \ 

(1) xk¡/k h , .M xk¡/khTe 

(2) nh iz kWC ye vk WQ  nh #ih  

(3) nh cq)k , .M fgt  /k Ee k 

(4) o h nh ihiqy 

  
135. Which one of the following books has 

not written by B. R. Ambedkar ? 

(1) Gandhi and Gandhism 

(2) The Problem of The Rupee 

(3) The Buddha and His Dhamma 

(4) We The People 

136. Hkk jr d s l afo /k ku e sa egk U;k;ok nh d s in dk 

fo p kj fdl  ns'k  l s fy;k x;k gS \ 

(1) t eZu h 

(2) f czV su 

(3) d uk Mk 

(4) vk WLVªsfy;k 

  
136. The idea of the office of the Attorney-

General in Indian Constitution taken 

from which country ? 

(1) Germany 

(2) Britain 

(3) Canada 

(4) Australia 

137. fuEu kafd r es a l s d kSu-l k ;qXe l gh l qesf yr 

u gh au gh au gh au gh a gS \ 

fo p kjdfo p kjdfo p kjdfo p kjd     fo pk jfo pk jfo pk jfo pk j     

(1) nhun;k y mik /;k ; 

 

,d kRe ek uo okn 

(2) t;izd k'k  ukjk ;.k  

 

l aiw.kZ Ø k afUr 

(3) , e0 ,u 0 jkW;  mxz ek uo o kn 

 

(4) jke eu ksgj y ksf g;k viok g f l )kU r 
 

  
137. Which one of the following pair is not 

correctly matched ? 

Thinkers        Idea 

(1) Deendayal  

Upadhyaya 

– Ekatm 

Manavwad 

(2) Jayaprakash 

Narayan 

– Sampurna Kranti 

(3) M. N. Roy – Radical 

 Humanism 

(4) Ram Manohar 

Lohiya 

– Drain Theory 
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138. lwphlwphlwphlwph    – I d k s l wp hl wp hl wp hl wp h     – II d s l k Fk l qesf yr 
d hft ;s rFk k l wf p;ks a d s uh ps fn;s x;s d wV ks ad wV ks ad wV ks ad wV ks a dk 
iz;k sx d jrs gq,  l ghl ghl ghl gh  mÙkj pqfu,  % 

l wphl wphl wphl wph     - I 

¼ { ks=h ; l axBu½¼ { ks=h ; l axBu½¼ { ks=h ; l axBu½¼ { ks=h ; l axBu½     
l wph  l wph  l wph  l wph  - II 

¼ LFk kiuk  o" kZ½¼ LFk kiuk  o" kZ½¼ LFk kiuk  o" kZ½¼ LFk kiuk  o" kZ½     

(A) vÝ hd u ;wfu;u (I) 1981 

(B) uk WFkZ ve sfjd u Ý h V ªsM 
, xz h esUV 

(II) 1989 

(C) xYQ  d ksvkWijs'k u 
d k mf Ul y 

(III) 2002 

(D) , f'k;k isfl fQd  
bd ksukWf ed  d ksvkWijs'k u 

(IV) 1994 

d wV  %d wV  %d wV  %d wV  %     
 (A)     (B)     (C)     (D) 

(1) (III)    (IV)    (I)     (II) 

(2) (I)      (II)     (III)    (IV) 
(3) (IV)    (III)    (II)    (I) 

(4) (II)     (I)     (IV)    (III) 

  138. Match List – I with List – II and select 

the correct answer using the codes 

given below the lists : 

List    - I 

(Regional Organisations) 

List    - II 

(Founded in 

Year) 

(A) African Union (I) 1981 

(B) North American Free 

Trade Agreement 
(II) 1989 

(C) Gulf Cooperation 

Council 
(III) 2002 

(D) Asia Pacific Economic 

Cooperation 
(IV) 1994 

Codes : 

 (A)     (B)     (C)     (D) 

(1) (III)    (IV)    (I)     (II) 

(2) (I)      (II)     (III)    (IV) 
(3) (IV)    (III)    (II)    (I) 

(4) (II)     (I)     (IV)    (III) 

139. lwphlwphlwphlwph    – I d k s l wp hl wp hl wp hl wp h     – II d s l k Fk l qesf yr 
d hft ;s rFk k l wf p;ks a ds uh ps fn;s x;s d wVks a dk 
iz;k sx d jrs gq,  l ghl ghl ghl gh  mÙkj pqfu,  % 

l wphl wphl wphl wph     - I 

¼ i;kZo j.k d s l acU/ k es a izeq[ k ¼ i;kZo j.k d s l acU/ k es a izeq[ k ¼ i;kZo j.k d s l acU/ k es a izeq[ k ¼ i;kZo j.k d s l acU/ k es a izeq[ k 
v U rjk Z" V ªh; iz;kl ½v U rjk Z" V ªh; iz;kl ½v U rjk Z" V ªh; iz;kl ½v U rjk Z" V ªh; iz;kl ½     

l wph  l wph  l wph  l wph  - II 

¼ o " kZ½¼ o " kZ½¼ o " kZ½¼ o " kZ½     

(A) fo 'o  e kSl e l axBu dh  
LFkk iuk 

(I) 1987 

(B) vUV kd ZfV d  lf U/k (II) 1988 

(C) czUVy S.M d e h'k u 
fjiksV Z 

(III) 1959 

(D) bUV jus'kuy iSuy vkWu 
Dyk be sV  p s at d h  
LFkk iuk 

(IV) 1950 

  139. Match List – I with List – II and select 

the correct answer using the codes 

given below the lists : 

List    - I 

(Major International 

Initiatives on 

Environment) 

List    - II 

(Year) 

(A) Establishment of 

World Meteo -

rological Organisation 

(I) 1987 

(B) Antarctic Treaty (II) 1988 

(C) Brundtland 
Commission Report 

(III) 1959 

(D) Establishment of 
International panel on 

climate change  

(IV) 1950 
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d wV  %d wV  %d wV  %d wV  %     
 (A)     (B)     (C)     (D) 

(1) (IV)   (III)     (I)      (II) 

(2) (I)      (II)     (III)    (IV) 
(3) (II)     (I)     (IV)    (III) 

(4) (III)    (IV)    (I)     (II)  

Codes : 

 (A)     (B)     (C)     (D) 

(1) (IV)    (III)    (I)      (II) 

(2) (I)      (II)     (III)    (IV) 
(3) (II)     (I)     (IV)    (III) 

(4) (III)    (IV)    (I)     (II) 

140. d k yZ ik Wij ds vuql kj dkSu-l s fo p kjd  ^eqDr 

l e kt  d s nq'eu*  gS a \ 

(1) I ysVks] ghxy vk Sj e Sfd ;k oyh 

(2) I ysVks] ghxy vk Sj d kyZ e kDl Z 

(3) ghxy]  d ky Z e kDl Z vk Sj v jLrw 

(4) I ysVks] d kyZ e kDl Z vk Sj gkWCl 

  
140. Which thinkers are 'enemies of the open 

society', according to Karl Popper ? 

(1) Plato, Hegel and Machiavelli 

(2) Plato, Hegel and Karl Marx 

(3) Hegel, Karl Marx and Aristotle 

(4) Plato, Karl Marx and Hobbes 

141. fuEu kafd r e s a l s d kSu-lk  ns'k ch vkbZ , e ,l  

V h bZ l h ¼f cEl V sd ½  dk  l nL; u gh au gh au gh au gh a   gS \ 

(1) ckaXy kns'k 

(2) Fk kbZyS.M 

(3) Jh yad k 

(4) vQ xk fuLrk u 

  141. Which one of the following countries is 

not a member of BIMSTEC ? 

(1) Bangladesh 

(2) Thailand 

(3) Sri Lanka 

(4) Afghanistan 

142. 16o h a yksd l Hkk  d s izk sVse Lihd j ¼lk ef ;d 

v/;{k½  yksdl Hkk d s fdl  fuok Zpu {ks= d k 

izfrfuf/kRo  d jrs gS a \ 

(1) bUnkSj 

(2) f NUno kM + k 

(3) e.My k 

(4) ne ksg 

  
142. The Protem Speaker of the 16th Lok 

Sabha, represents which constituency in 

Lok Sabha ? 

(1) Indore 

(2) Chhindwara 

(3) Mandala 

(4) Damoh 
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143. fuEu kafd r es a l s , aVk sfu;k s xz kE'kh d s v uql kj 
^o S/krk LFkk id  l ajpu k, ¡* dkSu-l h gSa \ 
 

(I) ifjo kj 

(II) f o| ky ; 

(III) /k kf eZd  l aLFkk ,¡ 

l ghl ghl ghl gh  mÙkj gS % 

(1) I vkSj II (2) I vkSj III 

(3) I, II vkSj III (4) II vk Sj III 

  
143. Which of the following are the 

'Structures of Legitimation' according to 

Antonio Gramsci ? 

(I) Family 

(II) School 

(III) Religious Institutions 

Correct answer is : 

(1) I and II (2) I and III 

(3) I, II and III (4) II and III 

144. fuEu esa ls fdl fopkjd us ^,e0 ch0 vks0 
¼y{; ds vk/kkj ij izcU/k½* dk fopkj fn;k \ 
 

(1) e s;k s 

(2) ihV j ,Q 0 M ªd j 

(3) jsMQ ksMZ 

(4) e Sd xz sxj 

  
144. Which of the thinkers has given the 

idea of 'M.B.O. (Management by 

Objectives)' ? 

(1) Mayo 

(2) Peter F. Drucker 

(3) Redford 

(4) McGregor 

145. ^^iz'k kl u jkt uhfr d h ifjf /k l s ck gj gSA 
iz'kkl dh ; l eL;k, ¡ jkt uhfrd  l eL;k, ¡ ugha 
gS aA ;| fi jktu hf r iz'kkl u d s f y;s d k;Z 
fu/k kZfjr d jrh gS rFkkf i ml s iz'kkld h ; inks a 
d s l k Fk f [k yokM + d jus dh  Loh Ñfr ugh a f ey uh  
pk fg;sA** 
jkt uh fr o y ksd  iz'kkl u d s i`FkDd j.k l s 
l acfU /kr ;g d Fk u fd ld k  gS \ 
(1) y wFkj xqf yd  

(2) , y0 Mh 0 OgkbV 

(3) o qMjk s fo Yl u  

(4) y sl yh  fyIl u 

  
145. "Administration lies outside the proper 

sphere of Politics. Administrative 

questions are not political questions. 

Although politics sets the task for 

administration. It should not be suffered 

to manipulate its offices." 

Who made this statement in context to 

Dichotomy between Public 

Administration and Politics ? 

(1) Luther Gullick  

(2) L. D. White 

(3) Woodrow Wilson  

(4) Leslie Lipson 
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146. vUrjkZ" V ªh ; l acU/k  d s {k s= es a O;o LFkk  f o'y s" k.k 

d s ek V Zu dsIyku d s e kWMYl  d k l ghl ghl ghl gh Ø e D;k 

gS \ 

(i) f 'kfFky f }/kz qoh ;rk  

(ii) d Bk sj f }/k z qoh ;rk 

(iii) l koZHkkSfed  vUrjk Z" V ªh; O;oLF k k  

(iv) 'k fDr& l arqy u 

l gh   l gh   l gh   l gh   Ø e gS % 

(1) (i)   (ii)   (iii)  (iv) 

(2) (iii)  (iv)  (i)   (ii) 

(3) (iv)  (i)   (ii)  (iii) 

(4) (ii)  (iv)  (iii)  (i) 

  
146. What is the correct sequence of Morton 

Kaplan's models of systems analysis in 

International Relations ? 

(i) Loose Bipolarity  

(ii) Tight Bipolarity 

(iii) Universal International System 

(iv) Balance of Power 

Correct sequence is : 

(1) (i)   (ii)   (iii)  (iv) 

(2) (iii)  (iv)  (i)   (ii) 

(3) (iv)  (i)   (ii)  (iii) 

(4) (ii)  (iv)  (iii)  (i) 

147. ^t u-izo kn* fd l  izdk j d s l apk j l s lacfU /kr 

gS \ 

(1) vk Sip kf jd  l apk j 

(2) vu kSipk fjd  l apkj 

(3) f yf[k r l apkj 

(4) v/k kse q[ kh l apkj 

  
147. 'Grapevine' is related to which mode of 

communication ? 

(1) Formal Communication 

(2) Informal Communication 

(3) Written Communication 

(4) Downward Communication  

148. fj;kl rh  jk T; d k s igp kfu, ] tgk¡ , d laf o/kku 

l Hk k dk  xBu u gh au gh au gh au gh a  gqvk  F kk % 

(1) e Sl wj  

(2) l kSjk" Vª 

(3) V ªko ud ksj - dk sphu  

(4) gSnjkckn 

  148. Identify the princely state, where a 

constituent assembly was not formed : 

(1) Mysore  

(2) Saurashtra 

(3) Travancore - Cochin  

(4) Hyderabad 
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149. fuEukafdr esa ls dkSu-lk lgh lqesfyr ughaughaughaugha  gS \ 

 

i q Lr d dk u kei q Lr d dk u kei q Lr d dk u kei q Lr d dk u ke     y s [k d @y s f[k dky s [k d @y s f[k dky s [k d @y s f[k dky s [k d @y s f[k dk     

(1) n h Qa D' kUl  v kW Q n h  

,fDlD; w fVo  

–  gjc VZ  l kb eu  

(2) fØ,f Vo ,Dl fi fj; a l  –  e s jh i h0 

Qks y s V 

(3) bU Vª ks MD' ku Vw  n h L VM h  

v kW Q ifCy d ,M fefu LVªs ' ku  

–  ,y0 M h0 

Og kbV 

(4) fi z fU liY l  v kW Q ifCy d  

,MfefuL Vªs ' ku % foF k  

L is ' ky  js Qjs a l  Vw  n h 

u s ' kuy  ,.M LVs V 

xou Z e s a V~l  v kW Q n ;w ukbVs M  

L Vs Vl  

–  MCY; w 0 ,Q 0 

foy ks c h  

 

  149. Which of the following is not correctly 

matched ? 

Name of Book Author 

(1) The Functions of the 

Executive 

– Herbert Simon 

(2) Creative Experience  – Mary P. Follet 

(3) Introduction to the Study 

of Public Administration 

– L. D. White 

(4) Principles of Public 

Administration : With 

Special Reference to the 

National and State 

Governments of the 

United States 

– W. F. 

Willoughby 

 

150. 'kh r ;q) d s l UnHkZ e s a fuEu e s a l s d kSu-l k 

d k y-Ø ek uql kj izFk eizFk eizFk eizFk e  gS \ 

(1) D;wck  d k fel k by l ad V 

(2) d ksfj;k dk  ;q) 1950 

(3) e k'k Zy Iy ku 1948 

(4) l ksfo ;r l a?k  }kjk v.kq ce d k  f oLQ ksV 

29 vxLr 1949 

  
150. Which is first in chronological order in 

context to Cold War ? 

(1) Cuban Missile Crisis 

(2) Korean War 1950 

(3) Marshall Plan 1948 

(4) Atom bomb explosion by USSR   

29 August 1949 
 



6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys@uhys 
ckWy IokbaV iSu ls iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k 
x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 
darkening complete circle using Black/Blue ball point pen 
as shown below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 
 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA (Rough work should be done only in the space 

provided in the Question Booklet for the same.) 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk 
iz;ksx fuf"k) gSA (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener 

(white fluid) is not allowed for changing answers.) 

9. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d òÙk dks gh iwjh rjg uhys@dkys 
ckWy IokbaV iSu ls HkjsaA ,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA (Out of the four alternatives for each 

question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the 

OMR Answer Sheet. The answer once marked is not allowed to be changed.) 

10. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d 
esa fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA (The candidates should ensure that the Answer Sheet is not folded. Do not make 

any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer 

Sheet.) 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa ¼iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk 
dh fLFkfr dks NksM+dj½ nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA (Handle the Question Booklet and Answer Sheet with 

care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of 

Question Booklet will not be provided.) 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA (The candidates will write the correct 

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.) 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh 
ifpZ;k¡] istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic 

device or any other material except the Admit Card and Identity Card inside the examination hall/room.) 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ ¼jksy ua0½ vkSj igpku i= fn[kk,¡A (Each candidate must show on 

demand his/her Admit Card (Roll No.) and identity card to the Invigilator.) 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo’ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA (No candidate, without special permission of 

the Superintendent or Invigilator, should leave his/her seat.) 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn 
fdlh vH;FkhZ us nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g 
vuqfpr lk/ku dk ekeyk ekuk tk,xkA OMR mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fu’kku 
yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh 
ek=k u rks cgqr vf/kd gks o u gh cgqr deA (The candidates should not leave the Examination Hall without handing over 

their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the 

Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. 

All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should 

be properly inked i.e. they should not be either over inked or dried in nature.) 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA (Use of Electronic/Manual Calculator is prohibited.) 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn’kk&funsZ’k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA 
vuqfpr lk/kuksa ds lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA (The candidates are governed by 

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in 

the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.) 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall 

be detached under any circumstances.) 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo’; lkSai nsaA vH;FkhZ vius lkFk bl 
iz'u&iqfLrdk dks ys tk ldrs gSaA (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator 

in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.) 
 

� � 
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